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M.A. (Part-ll)
ECONOMICS

Development Economics
Group-1 (Paper - lll) (OCT-16)

) QP Code : 67377

i.

[\

(3 Hours) [ Total Marks :60

N.B.: (1) Attempt any four questions
(2) All questions carry equal marks

Explain any two of the following:
(a) Low level equilibrium trap
(b)  The role of state according to Adam smith and Karl Marx

(c) Joseph Schumpeters theory of innovation

Write notes on any two of the following:
(a)  Absolute and conditional convergence
(b)  Golden rule of accumulation
(c) Models of endogenous growth

Examine the political economy critique of the centre periphery theory of
dependencia.

Write notes on any two of the following.
(a) Population and development
(b)  Gender and economics
(¢} Doomsday model

Build a model to show how currency crisis can arise due to inconsistent monetary
fiscal and exchange rate policies.

Explain any two of the following:
(a) Development planning models
(b) Merged bank fund model
(c)  Growth programming

Write notes on any two of the following:
(2) Model of surplus labour
(b) Theory of demographic transition
(c)  Agriculture and industry interrelation
(d)  Alternative measures of poverty

(e) Debt investment and growth
[TURN OVER
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M.A. (Part-ll)
ECONOMICS

Public Economics
Group-l (Paper - 1V) (OCT-16)

QP Code : 67459

\

. (3 Hours) [ Total Marks : 100

N.B. : (1) Attempt any four questions.
(2) All questions carry equal (25) marks.

1. (a) Bring out the rationale for government intervention
(b) Explain Arrow's Impossibility Theorem

2. (a) Discuss the Samuelsonian approach to the provision of pure public goods.
(b) Examine Wagner's law of public expenditure.

3. (a) Explain the relationship between optimal taxation and income distribution
with reference to non-linear income tax.

‘(b) Examine Harberger's model of incidence of corporation fax.

4. (a) Analyse Solow-Blinder theorem and bond financed deficits.
(b) Evaluate the relationship between tax, inflation and interest rates.

5. (a) Elaborate sargeant wallace hypothesis
(b) Discuss twin deficits approach to growth and inertial inflation.

6. (a) Explain decentralisation theorem
(b) Discuss the challenges in the transfer of intergovernmental grants.

7. (a) Write notes on (any two):
(a) Theorems of welfare economics
(b) Clarke - Groves tax
(c) Effects of tax on labour supply
(d) Ricardian equivalence
(¢) Polak model of financial programming
(f) Federal structure in India

SF-Con. 5502-16.
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M.A. (Part-ll)
ECONOMICS
Agricultural Economics

Group-ll (Paper -1l) (OCT-16)

) QP Code ;: 67605

N.B.:

( 3 Hours) [ Total Marks : 100

(1) Question No. 1 is compulsory.
(2) Answer any three questions from the remaining six questions.
(3) All questions carry equal marks. -

1. Write short notes on any three of the following:-

(a) Fertiliser Management

(b) Water Charges

(¢) Role of agriculture in developing countries
(d) Agricultural extension in India.

(e} Gender-based income disparities

(f) Foreign Capital and Indian agriculture

2. Explain the following theories of agricultural development:

(a)
(&)

3. (a)
(b)

4. (a)

5. ()
(b)

Lewis model
Schultz model

Discuss the significance of the Watershed approach.
Explain the arguments against large dams.

Discuss the impact of new technology on labour-absorption and real wage
rates in Indian agriculture.

Comment on the Rural Credit Policies in India.
Write a note on Crop Insurance in India.

6. Answer any two of the following:-

(a)
(b)
(c)

Market Interlocking
Modes of Production,
Methods of Surplus Extraction.

7.  Attempt any two of the following :

(a)
(b)
(c)
(@)

Land Ceiling Act

Abolition of Intermediaries Act
Globalisation of Agricultural Trade
Agrarian Reforms and Peasant Movements
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M.A. (Part-ll)

ECONOMICS
Industrial Economics
Group-ll (Paper - Il) (OCT-16) QP Code : 67819
y,
(3 Hours) [Total Marks: 100

N.B.: (1) Answer any four questions
(2) Each question carry equal marks.

1. (a) Explain the nature and causes of labour migration in India.
(b) Critically evaluate the Theory of Human capital.

2. Explain the nature of demand for labour in the short run and long run.

3. Explain briefly the following theories:
(a) Subsistence theory of wages
(b) Marginal Productivity Theory of wages

4.  (a) Examine the human relations approach to capital labour relations.
(b) Write a note on efficiency wage theory.

5. (a) Explain the problems of informal and formal labour.
(b) Discuss Employee Turnover in India.

6. (a) Explain the class conflict approach to industrial relations.
(b) Write a note on strikes, lockout and closure.

- 17. Write notes on the following: (Any two)
(a) Characteristics of Indian labour market
(b) Wage differentials in India
(c) Implicit Contract Theory
(d) Workers’ participation in management.
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